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,,,,,,,,,, 1) Ixx>0] ; U=R
w2 A< 0] ; U=R
__________ 3) Ixlx+1 =T ; U=R
......... 4 IAxx*+4=01; U=R
.......... 5 Wx*=0]: U=R
.......... 6) Adx = - ; U=R
.......... 7 Vyllyl=yl ; U=R
.......... 8) Vyly>1] ; U=1{1,2,3,4}
.9 Ixx =2x] ; U={-1,0, 1}
10) VzZ<4] ; U=§2,-1,0,1,2
w1l) Wbz x-1] ; U={-2,-1,0,1,2}
12) Vx>0 A3xx>0] ;U=1{1,2,3,4,.}
wel3) Vdx 2 21— Jxix>2] ; U=1{1,2,3}
.......... 14) 3x[x+0-—-0]EVx[x+0=x] s U=1
18 Ax<0AXE-120] ; U={-1,0, 1}
..16) VxVylx+y < 2] ;U={-1,0,1}
wd?) VxVylx -y = y=x1 ; U=1{0, 1}
.18) UxWylx -y = %1 ; U=10, 1}
19 IxTylx+y = 21 ; U=10,1,2}
220) AxTylx -y = y-x; U={-1,0,1}
.......... 21) Vx¥y x-y = y-x] = DAylx-y = y-x1 ; U=1{0, 1}
__________ 22) Axylx +y <« 2] ;U=1{-1,0}
.......... 23) Vxdylx+y = 21 ; U={0,1, 2}
.......... 2q) Vx3yhé -y = y*=x] ;U=1{-1,0,1}
.......... 25) VxAylx+y = 0] ; U={-1,0, 1}
en26) AxVylx -y < =21 ; U=1{1,2,3}

1) AWy < ] ; U=1{1,2,3}
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